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1 AR E)BE 41 41 8214.0| 68.0 36| Fr A 48 44 92 14.0 78.0 71 FRHEE 47 56 103/16.0| 87.0
2 HIIETS 43 45 8818.0| 70.0 37 SEHET 49 45 94 16.0 78.0 72 H B 51| 54 105/18.0/ 87.0
3 BHE ] 41 45 86/15.0 71.0 38| LH—h 49 45 94 16.0 78.0 73 - HKEH 46 61 107 20.0| 87.0
4 BAKIRIE 43 45 88/17.0 71.0 39| BRI RN 43 51 94 15.0 79.0 4 TR 55| 48 103 15.0| 88.0
5 M 44 45 8918.0| 71.0 40| |LIARJE S 42 52 94 15.0 79.0 75 {A] Bk 55| 49 104/16.0| 88.0
6 mHfH 42 48 9019.0| 71.0 411 IHNIEA 44, 51 95 16.0 79.0 76 =JHFH A 55| 53 108/20.0/ 88.0
7 bl 40 46 86 14.0| 72.0 42) /ME H i 47 49 96 17.0 79.0 77 FHET] 56| 53 109 20.0| 89.0
8 AT 42 46 88/16.0 72.0 43 EHE 46 51 97 18.0 79.0 78/ &L %N 51| 53 104 14.0| 90.0
9 A 48 44 9220.0| 72.0 44| B W P Z 51 47 98 19.0 79.0 9 AT 55| 52 107 17.0] 90.0
10 BVE g 46 43 89 16.0| 73.0 45| IEARZESL 53 46 99 20.0 79.0 80 B2 NI 56| 52 108 16.0| 92.0
11 FMEs: 44 46 90/17.0| 73.0 46| R iE 48| 48 96 16.0 80.0 81 VHEFH 57| 54 111/19.0) 92.0
12 I+ 44 49 93/20.0 73.0 47 PP — 47 49 96 16.0 80.0 82 FRABE 56| 56 112/15.0] 97.0
13 HF&ET 43 45 88 14.0| 74.0 48 WA T 51 49 100 20.0 80.0 83 Kie—2Z 53| 63 116/18.0| 98.0
14 B IERE 45 44 8915.0| 74.0 49 By B 46| 50 96 15.0 81.0 84 [LiIAE IR 57| 64 121/18.0103.0
15 &Rk 45 45 9016.0| 74.0 50/ V4 AT 48 49 97 16.0 81.0 85 s FHFII 61 67 128/20.0108.0
16 KR zlE 44 46 90/16.0 74.0 51| f ¥y g 43 57 100 19.0 81.0
17 EHBA 44 47 91/17.0 74.0 52| AGn i 47 52 99 17.0 82.0
18 H Lk 44 50 94/20.0 74.0 53 AR 55 45 100 18.0 82.0
19 s 44 50 9420.0| 74.0 54| fE - UE 47 55 102 20.0 82.0
20 FoHA = 45 49 9420.0| 74.0 55| FEACHL 5 49 53 102 20.0| 82.0
21 HE® 46 43 89 14.0| 75.0 56| BREFEIR 56 46 102 20.0| 82.0
22 ZE T 42 47 8914.0| 75.0 57 BRI 46 51 97 14.0 83.0
23 FRAS—HE 47 47 94/19.0 75.0 58| KR 1 46 52 98 15.0 83.0
24 BERH— 48 47 95/20.0| 75.0 59 it A LA 50 48 98 15.0 83.0
25 EHib— 44 49 93/17.0 76.0 60| HBE— 43 56 99 16.0 83.0
26 B b 3EA 46 47 93/17.0| 76.0 61 B 51 50 101 18.0 83.0
27 = 46 48 9418.0| 76.0 62| B IR Bl 51 48 99 15.0 84.0
28 HAIL 49 46 95/19.0| 76.0 63| BEAS IE 52 49 101 17.0 84.0
29 [fFIEE 46 50 9620.0| 76.0 64 FH 53 50 103 19.0 84.0
30 i)l F5 = 42 49 91 14.0| 77.0 65 AR E 50 53 103 18.0 85.0
31 MR HfE = 46 48 94/17.0 77.0 66 G5 52 51 103 18.0 85.0
32 AT YR AR 44 50 94 17.0| 77.0 67 )1 JcHl 52 53 105 20.0| 85.0
33 & 46 49 9518.0| 77.0 68 KM E 5 51 54 105 20.0| 85.0
34 BRATH 48 47 95 18.0| 77.0 69 HRRESC 53 52 105 19.0| 86.0
35 BRIFSCZ 48 48 96/19.0 77.0 70 RIEREAR 51 55 106 20.0 86.0
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